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MERRE| Ak B S IR mikg | TOR L
dbiEE AR mdE X EEZALIRED — iR IRIE 12 0.37 0.16 ~ 0.89
dbiEE FLIRT L X (E3E5] —RIRIE 12 0.14 0.10 ~ 0.18
dbimeE  [FLiRTEX EREE2— —RIREE 12 0.14 0.10 ~ 0.21
dbimE BB &/ NERGEIE D —RIRIE 12 0.12 0.094 ~ 0.17
diEE  |EKEET EENMNERAER —RIRIE 12 0.11 0.094 ~ 0.16
dbimE | ST ES@NE]S] — R IRIE 12 0.14 0.11 ~ 0.18
EE |F&Em HOHRIER —RIRIE 12 0.11 0.078 ~ 0.14
EHRE |[BE&T BINERD —RIRIE 12 0.070 0.042 ~ 0.12
EHRE  [shAlT EARTEE — iR E —RIRIE 12 0.094 0.060 ~ 0.13
xR |[/\Fm INEBINERD — R IRIE 12 0.14 0.11 ~ 0.21
AFE |EMT EERB — RIS 12 0.12 0.092 ~ 0.16
BEFE | KhiEh BB —hRIRIE 12 0.063 0.020 ~ 0.11
=2F8 v t EHFEE —IRIRIE 12 0.12 0.026 ~ 0.52
ZEF8 |[ZFmh ER —RIREE 12 0.073 0.036 ~ 0.12
EHE  WETERFX|DER —RIRIE 12 0.086 (< 0010 ) ~ 0.15
EHRE |WETERFX|HEE —RIRIE 12 0.097 ( < 0010 ) ~ 0.19
EHE |EEh B RIBBAKAES — IR 12 0.13 0.094 ~ 0.21
EHE |SEHEBRTEE|KARESRTE —RIRIE 12 0.14 0.091 ~ 0.29
ERE |EHIBERE ([EXEER — R IRIE 12 0.13 0.072 ~ 0.19
MEE BREET )l —RIRIE 12 0.14 0.072 ~ 0.38
IWizE  [Iifgh L R PR S —HRIRIE 12 0.13 0.098 ~ 0.20
IRz 2 EET EHEERES —RIRIE 12 0.16 0.11 ~ 0.33
BEE |mEFEHENT SEERD — iR IRIE 12 0.098 0.055 ~ 0.16
EEE  [BH ZH —RIRIE 12 0.10 0.040 ~ 0.20
BEE  [ElH FER —RIREE 12 0.10 0.039 ~ 0.18
BERE  |LWwbhEm B1E — RIS 12 0.12 0.052 ~ 0.26
SR B =ERNG] —RIRIE 12 0.091 0.052 ~ 0.16
ZBHE  [KEH KERID — R IRIE 12 0.16 0.12 ~ 0.21
xR Hirmh Bim&E —RIRIE 12 0.096 (< 0.0025 )~ 0.24
ZEE  |LiETm THEREME —RRIRIE 12 0.10 (< 0.0025 )~ 0.20
ZWE  |EIST RIS 3 (FBIE ) —RIRIE 12 1.1 (< 0.0025 )~ 12
ZWHE  |FAET AR — R IRIE 12 0.094 (< 0.0025 )~ 0.23
ZRWE | HifET HIEEEE B —RIRIE 12 0.13 (< 0.0025 )~ 0.30
ZFE [T HIETEARD —HRIRIE 12 0.11 (< 0.0025 )~ 0.19
HmARE FHEH Fa/NVER —IRIRIE 12 0.18 0.090 ~ 0.32
mARE [BHH ERHEHAREE — iR IRIE 9 0.12 0.092 ~ 0.17
HAE  [#EAH B E 2/KE —RIRIE 8 0.12 0.087 ~ 0.14
mARE [XKHAEH WmARETBEAETE —RIRIE 9 0.10 0.087 ~ 0.13
AR |[FHm BEER —RRIRIE 9 0.11 0.087 ~ 0.14
HEER [T HIER S —RIRIE 12 0.20 0.10 ~ 0.80
HERE |[E&H FEAREE — R IRIE 12 0.15 0.097 ~ 0.20
HEE |Eiamh HEREL S— —iRIRE 12 0.17 0.086 ~ 0.26
BEER |[KHM AH—RE — R IRIE 12 0.12 0.078 ~ 0.16
HER g 11Kl EIE1T—8E —RIREE 12 0.15 0.093 ~ 0.25
BEERE |&dh ZHEA—HH — R IRIE 12 0.13 0.082 ~ 0.24
BER SWEFEFHTARX EREAIER —IRIRIE 12 0.16 0.095 ~ 0.22
BERE [SOVFhXER|KEXERM — AR IRIE 12 0.15 0.098 ~ 0.25
BERE  |[SWV-FhhiRE |BERFHREE2— — RIS 12 0.25 0.13 ~ 0.69
BERE SOV FHEHRE SNV -FmERMAER —RIREE 12 0.16 0.11 ~ 0.27
BEE | SOEFHhEMR | ERAER —RRIRIE 12 0.16 ( 0.091 ) ~ 0.27
BEE  |)I#EH JN#EH ) BAIE —RIRIE 12 0.16 0.086 ~ 0.32
BEE  |JI#EE N SR RER —RIRIE 12 0.16 0.086 ~ 0.32
BER [EEAT EAE —RIRIE 12 0.16 ( 0.044 ) ~ 0.32
BER  Odm NOmZAER — AR IRIE 12 0.19 0.12 ~ 0.33
BEE o NOmEERES —IRIRIE 12 0.24 0.14 ~ 0.43
BEE  |FTiR™ L EFAIE S —RRIRIE 12 0.15 0.085 ~ 0.22
BEE hnZETh RIEEZFEERCE —RIRIE 12 0.20 ( 0.042 ) ~ 0.41
BER  [E#UTh EZNITNG) — iR IRIE 12 0.20 ( 0.043 ) ~ 0.37
BEE EHBHE® EHEHZFT —RIRIE 12 0.20 ( 0.037 ) ~ 0.37
BEE AT HHUAH —RIREE 12 0.18 0.13 ~ 0.24
FEER FEHTHLEX [f8IESF —IRIRE 12 0.57 0.066 ~ 4.0
FEE |FETHPRX [FEIDER —RIRIE 12 0.28 0.089 ~ 0.96
FTEE |FERHER FEHKER — AR IR 12 0.69 0.099 ~ 2.8
FEE |FTEHEER |ERAE —RIRIE 12 0.92 0.095 ~ 5.7
FEE |BkFH FHHEREE 22— —HRIRIE 12 0.11 0.066 ~ 0.18
FEE |dd PPN —RIRIE 12 0.23 0.14 ~ 0.38
TEE |MES MESIEER —fBIRE 12 0.19 0.14 ~ 0.31
FEE BT EEILETRE —RIRIE 12 0.13 0.066 ~ 0.21
TEE |WFM WEEREXD — iR IRIE 12 0.19 0.12 ~ 0.53
TEE |BHE™ BHE MBI — RIS 12 0.16 0.11 ~ 0.28
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FEE |HET MREIEER —hRIRIE 12 0.51 0.16 ~ 1.1
FEE |hEH HEHAES —RIRIE 12 1.5 0.31 ~ 4.4
FTEE |hE™ BAAED —RIREE 12 1.1 0.025 ~ 2.8
FEER R i 13 B 5E J — RIS 12 1.3 (< 0.004 ) ~ 8.6
FEERE |hE™ I\ BIE 5 —RIRIE 12 5.7 0.14 ~ 39
TEE [8BIh BRI KEE TG — IR 12 0.13 0.082 ~ 0.24
FTEE |EEh BEARE —RIRIE 12 0.15 0.070 ~ 0.20
FTEE |#hyET W EERB —RIRIE 12 0.24 0.069 ~ 0.59
FTER =Eiaiil BHERER —RIRIE 12 0.16 0.087 ~ 0.29
TEE | FIEPEEE |EERIVIILANA—AMEE— — R IRIE 12 0.20 0.071 ~ 0.77
RIRER P RX FRXEES — RIS 12 0.22 0.15 ~ 0.41
BE# | FEX EEERIER —hRIRIE 12 0.25 0.16 ~ 0.52
EE BEX BEXBXARB —IRIRIE 12 0.28 0.16 ~ 0.78
RE# | KHK AHXPHAMIEDHEEL 22— —RIREE 12 0.23 017 ~ 0.41
REE  |REX RAEX K ETH — RIS 12 0.23 0.15 ~ 0.50
RRE#  |#BEX BEXEHARD —RIRIE 12 0.26 0.14 ~ 0.44
BE#  |RUKX RIRXRFHHD — R IRIE 12 0.21 0.15 ~ 0.44
BRE#  IFINRX IFNREIRG —RIRIE 12 0.19 0.13 ~ 0.37
RE# |N\EFH AEFEF — R IRIE 12 0.12 0.089 ~ 0.21
RE#  |/\EFH HFEHE —RIRIE 12 0.14 0.10 ~ 0.21
BE#B  |/EHT NEHTRETF —HRIRIE 12 0.31 0.15 ~ 0.81
RE#E |HEKFH BARITERER —RIRIE 12 0.18 0.15 ~ 0.24
REE |AZEREEN | GZERERE —hRIRIE 12 0.17 0.13 ~ 0.25
#AENE EHIEX  |EE)IGE — RIS 12 0.21 0.095 ~ 0.40
AE)E IGH)IEX | KEEE D —RIREE 12 0.16 0.089 ~ 0.32
#FRINNE BT hEX  |FEAER — RIS 12 0.16 0.091 ~ 0.28
AmE)E NBHEEX |ZEAER —RIREE 12 0.17 0.11 ~ 0.23
wE)NE FEEETPRX | HEFRER — R IRIE 12 0.14 0.077 ~ 0.19
MmE)IE [(#EEEN BRTBRE S— —RIRIE 12 0.18 0.12 ~ 0.24
#ME)IE [(#EED HABEHEMN —RRIRIE 12 0.18 0.11 ~ 0.26
AmE)E [FiEH BINER —RIRIE 12 0.13 0.083 ~ 0.19
#mE)IE [ERH BRTRAE — R IRIE 12 0.20 0.11 ~ 0.27
=R [FRIRT ERT B/ E —RIRiE 2 0.18 0.15 ~ 0.20
MmE)E [/MAFET MNARTERB — iR IRIE 12 0.12 0.068 ~ 0.17
MmE)E [EHFH EHMEFME — RIS 12 0.10 0.072 ~ 0.17
#mE)E [EXH EXM&ERE — iR IRIE 12 0.12 0.075 ~ 0.18
FRE |[FEHTEX AIWLE — RIS 12 0.14 0.082 ~ 0.24
FRE  |[FEmAX WER —RIRIE 12 0.12 0.079 ~ 0.17
FRE  |#E&W e (FEMHETE) —RRIRIE 12 0.17 0.14 ~ 0.21
FRE  (WEh N HiD) —RIRIE 12 0.39 0.12 ~ 1.0
FRE  [BAH PEB —RIRIE 12 017 0.12 ~ 0.21
SWE =l EUZEE —iRIRE 12 0.28 0.14 ~ 0.74
EIWE  |gikmh INEXRBEWE — R IRIE 12 0.18 0.13 ~ 0.26
AR tEm tEIES —IRIRIE 6] ( 0.025 (< 0021 ) ~ (< 006
BINE  /hTh INBIRE B — R IRIE 6] ( 0.024 (< 0.021 ) ~ (< _0.06
BHE =Eadit] BHE —IRIRIE 12 0.15 0.10 ~ 0.21
BHE [HEH MAEH — AR IRIE 12 0.14 0.069 ~ 0.19
BHE [fFTh #EAB —IRIRIE 12 0.16 0.096 ~ 0.22
I Eiliodiil BB RF7UBIE B —RIREE 12 0.11 0.063 ~ 0.17
WRE  |ELtEHT EHAES —RRIRIE 12 0.11 0.074 ~ 0.15
IRE XA XBBIER —RIREE 12 0.11 0.076 ~ 0.16
WWBIE  |FETH SERBIE B —HRIRIE 12 0.12 ( 0.053 ) ~ 0.23
IHE B7INTAT  |E7IVIRBER —RIREE 12 0.12 0.076 ~ 0.17
BE B RILBRIE R — AR IRIE 12 0.12 ( 0.066 ) ~ 0.16
EFE P adiil B/ H - BRBRBEAKJAER —IRIRIE 12 0.18 0.12 ~ 0.32
EHE [REH EH—RBREREEAKIER —RRIRIE 12 0.18 0.12 ~ 0.31
EFE Nl WARE —IRIRIE 12 0.16 0.12 ~ 0.25
EHE |[LHM LtHB — iR IRIE 12 0.14 0.088 ~ 0.25
EHE |[#REAT Hiil) — RIS 12 0.13 0.080 ~ 0.21
RHE (Eak; ] FAE —RIRLE 12 0.13 0.082 ~ 0.17
FEE |IFEH Ik & 77 3k ER R E 5 — RIS 12 0.11 0.068 ~ 0.16
IFEE  |IRBH b R BIE D —RIRIE 12 0.12 0.062 ~ 0.20
IKEE | XKiEHh KiEHBA#A & B E S BERT —RIRIE 12 0.11 0.086 ~ 0.16
gafE 2 gEEmEKR |ERAES —RIREE 11 0.087 0.059 ~ 0.12
FEE |[BREHEX R/ NEEAE D —RIRIE 11 0.097 0.056 ~ 0.14
FREE |BRMHEAX | RHAERERAES —RIRIE 11 0.089 0.054 ~ 0.14
BEE  |BEHmEX BENRNER —HRIRIE 11 0.31 0.060 ~ 1.2
ga[E 2 BETEKR |BK=RE—NERIER —RIRIE 11 0.094 0.067 ~ 0.12
FBEE  ENTHPRX  |EAES — iR IRIE 12 0.084 0.049 ~ 0.12
d L SHM SHTEME —RIRIE 12 0.099 ( < 0019 ) ~ 0.16
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BEE |[E+dm ERE/NER B — iR IRIE 12 0.18 ( 0.057 ) ~ 0.28
FRREIE  [2EHTH EHMERAB —RIRIE 12 0.091 (< 0.020 ) ~ 0.17
BEE  [BUIH BIHEmE —RIREE 12 0.11 ( 0.022 ) ~ 0.17
BEE  |[RHH KHTEAE — RIS 12 0.10 ( < 0019 ) ~ 0.19
ZHE LZEETTERX |ESZEEER —RIRIE 12 0.16 0.045 ~ 0.28
BHE |AHETHIIRX|EAXFE — R IRIE 12 0.19 0.082 ~ 0.52
ZHE L2EEMERX [EBEB —RIRIE 12 0.19 0.12 ~ 0.47
EHE |ZEEHMERX |FINER —RIRIE 12 0.20 ( 0.058 ) ~ 0.53
ZHE L2EETER |BKNMNERB —RIREE 12 0.28 0.093 ~ 0.65
ZHE |2EH N 510 — R IRIE 12 0.13 (< 007 ) ~ 0.26
BHE 2Em ZIE —IRIRIE 12 0.14 0.073 ~ 0.23
ZHE  |Eh fiE] s 1 BR BB AR LU K GBI B S — IR 12 0.11 0.068 ~ 0.23
ZHE —Em —EmREEASAIER —IRIRIE 12 0.13 0.079 ~ 0.20
ZHE FHT FHTRFERS —IRIRIE 12 0.17 0.083 ~ 0.39
ZHE Z2Hlh &8 B (= BT HT) —IRIRE 12 0.095 0.045 ~ 0.15
BHE  |/M&H MNEERE —RIRIE 12 0.12 0.070 ~ 0.17
ZHE |HEEH E L) — R IRIE 12 0.15 0.074 ~ 0.33
=58 mAETH LtESKAIER —RIRIE 12 0.17 0.086 ~ 0.26
=58 mAmH MAHmEESRAES — R IRIE 12 0.15 0.10 ~ 0.22
=558 R AR EE /N —RIREE 12 0.14 0.089 ~ 0.32
=E8 |RE£T™ =ERRETE —HRIRIE 12 0.13 0.082 ~ 0.26
=58 |B#EM FEHy EPEE —RIRIE 12 0.16 0.091 ~ 0.32
HEE | KEH BEERHLERFEE S — — iR IRIE 12 0.14 0.065 ~ 0.23
FEE |ERM ERIZXESK — RIS 12 0.15 0.098 ~ 0.20
#EE |REM RER —RIREE 12 0.14 0.099 ~ 0.18
#HEE |EEH 5EB —RRIRIE 12 0.18 0.12 ~ 0.26
#ZEE |[E5h ESE5ERITE —RIREE 12 0.13 0.088 ~ 0.17
#HEE  |HEAITH BEIR — R IRIE 12 0.14 0.096 ~ 0.22
REE RSN ERR |EREBE —RIRIE 12 0.60 0.031 ~ 1.3
EEAEF  |ER#EHEX B FELELEEM —HRIRIE 12 0.65 ( 0.016 ) ~ 2.1
REBAT | AHERAGILET | AL —RIRIE 12 0.21 0.14 ~ 0.30
ABrAF | KERTTEHEX |[EETERD —RIRIE 12 0.19 0.10 ~ 0.44
KBRAE AR BN ERE —IRIRIE 12 0.33 0.13 ~ 0.90
ABraF R hmX ENER — iR IRIE 12 0.16 0.081 ~ 0.34
ABREE B hEX EFEB —IRIRIE 12 0.20 0.12 ~ 0.42
ABrAF  |2mh EhmNIAESE — iR IRIE 12 0.59 0.26 ~ 1.7
KB |RXKET RAXETRAB — RIS 12 0.10 ( 0.005 ) ~ 0.40
ABREF  |[E#HH ERrE —RIRIE 12 0.15 0.052 ~ 0.38
ABRAF  |#A™ BATEFE —RRIRIE 12 0.30 0.12 ~ 0.56
XEREE_ J\E INETREMRB —RIRIE 12 0.28 0.19 ~ 0.47
AlraF  |REEFT EHFRERB —HRIRIE 12 0.13 ( < 0.005 ) ~ 0.23
ABRAF  |EHEMS EHMTEE —RIRIE 12 0.077 (< 0005 ) ~ 0.20
ABRAEE_ |EEIT BEENHEME —RIRIE 12 0.29 0.14 ~ 0.57
KBRAE i E il BHAFTERME —IRIRIE 12 0.091 (< 0.005 ) ~ 0.25
ABRAF  |EKRRT AR 22— — R IRIE 12 0.27 0.12 ~ 0.65
EEE #HEFTRERX |FHEASKIES —IRIRIE 12 0.16 0.097 ~ 0.24
EEE [WFTEEX |EEmEBAKEIER —RIRIE 12 0.15 0.094 ~ 0.25
EEE #HETFRR |BEAKAIER —IRIRIE 12 0.18 0.10 ~ 0.34
EFEE  |IEERT I\RBIEF —RIREE 12 0.18 0.11 ~ 0.33
EEE |Blah Z/RaRBE —RRIRIE 12 0.26 0.13 ~ 0.48
EER BRET AAREIE L 2— —RIRIE 12 0.16 0.079 ~ 0.37
EEE [AEM BETEE —RIRIE 12 0.42 0.12 ~ 2.1
EEE Pl mEIE —RIREE 12 0.22 0.11 ~ 0.54
EER AT L) kARl o) —RIRIE 12 0.27 0.15 ~ 0.38
EEE =M =HT&E —IRIRIE 12 2.5 0.13 ~ 21
ZRE |RBEH EBHRERER — AR IRIE 4 0.099 (< _0.004 ) ~ 0.17
ZRE |&BmWm FEARSELAER —RIRIE 12 0.13 (< _0.004 ) ~ 0.44
ZRE |[XEH XEH — iR IRIE 12 0.16 0.076 ~ 0.31
ZRE |#&H#H BHB —fBIRIE 3 0.15 0.12 ~ 0.18
fFLE [FFlh AAERFRT —RIRIE 12 0.24 0.12 ~ 0.49
fFLE [FoFlh SAIEIS1= T Ve — —RIRIE 12 0.23 0.15 ~ 0.40
fFLE [T B A /MVERR —RIRIE 12 0.12 0.075 ~ 0.21
MFLE | FHET FHTYELARER — AR IR 12 0.10 0.064 ~ 0.17
SHRE SEH ERETEISTE —RIREE 12 0.13 0.078 ~ 0.21
BRE |XFmh ENMEXRFIESKE —RIREE 12 0.19 0.14 ~ 0.31
EBRE |B&mh EREEEREMD — RIS 12 0.18 0.12 ~ 0.27
EBRE |#TIH EFENITIH —HRIRIE 12 0.15 0.089 ~ 0.27
i L2 ik X e /N AR —IRIRIE 12 0.17 0.11 ~ 0.24
ELE  |ELhEX EEINER — iR IRIE 12 0.17 0.11 ~ 0.24
EILE  |[S%h EYENE — RIS 12 0.15 0.099 ~ 0.18
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EWE  EFElh EZEERB — iR IRIE 12 0.21 0.11 0.33
i L2 EHFH B XRXKAER —iRIRIE 12 0.20 0.13 0.32
EWE  |ZET EEXKEIER —RIREE 12 0.18 0.12 0.28
LEE |LEEmRERR|REEREFAIES —RIRIE 12 0.16 0.11 0.24
LER |Bm =RNERE —RIRIE 12 0.12 0.040 0.17
L8R |&h BHE/NERB — IR 12 0.12 0.056 0.16
LEER  |fElm B/INERE —RIRIE 12 0.15 0.11 0.22
LEER  |[FdmHm HEmEEE I—B — R IR 12 0.13 0.099 0.20
LER |[REEM RILBAEE/DMERB —RIRIE 12 0.14 0.088 0.19
LER LB BRI L BT SR —HRIRIE 11 0.15 0.092 0.25
wog TR ABIINER —RIRIE 12 0.15 0.071 0.37
WOE | FE| TEATIREERE R —HRIRIE 12 0.17 0.087 0.43
WOg  [F#m FEHRETE — RIS 12 0.15 0.044 0.34
WogE  |#d FEERIEI—F —RIREE 2 0.18 0.16 0.19
HESE  |FEm ABE — RIS 12 0.19 0.081 0.52
HEE WREBILEE |LER —RIRIE 12 0.13 0.086 0.21
FNE |ES8h EMHARIZS A =TV 52— — R IRIE 12 0.22 0.11 0.71
FINE |h&EH AEHEFE —RIRIE 12 0.62 0.17 2.8
FNE  rdd s itk dzil o) — R IRIE 12 0.74 (< 003 4.2
FINE ™ BEER —RIRIE 12 0.22 ( < 003 0.37
FINE [FNBESH |ESHEEH —RIRIE 12 2.5 0.21 8.1
BEE  |MWUmH EARD —RIRIE 6 0.16 0.11 0.20
EREE |FHMEH BEPHAD —HRIRIE 12 0.12 ( < 0018 0.19
BIRE |FEEM BPFEL- X ER 59— — RIS 12 0.11 ( < 0018 0.23
SHE  |SxH NTER —RIREE 6 0.04 (< 0.08 (< 008
BHE  |&Xm HER —RIRIE 6 0.04 (< 0.08 (< 008
2HE  |'=E Z=B —RIREE 12 0.082 ( 0.022 0.14
SHE  |ZBEETh [BABSEFRE — R IRIE 12 0.089 0.043 0.13
& 2 EAMBERR |[ERE —RIRIE 12 0.11 0.020 0.17
BEE s EkR | dEAMB —RRIRIE 12 0.11 0.027 0.20
& 2 kammhEER |TRER —RIREE 12 0.11 0.027 0.23
BEE |[EEHEX EHB —RIRIE 12 0.12 0.026 0.31
f& [ 2 AERET ERXEHBEGRER) —IRIRIE 12 0.12 0.040 0.26
BEE  |[ABXH WEREERE —RIRIE 12 0.12 0.084 0.14
& 8 A BB —fRIRIE 12 0.11 0.067 0.14
BEE  |REm ~EB —hRIRIE 12 0.12 0.071 0.15
EEE |[EEH EER —RIRIE 12 0.11 0.047 0.20
EEE [#FREM pNdD) —RIRIE 12 0.096 0.046 0.14
RIBEE | RIGH N BAER —HRIRIE 6 0.15 0.10 0.19
RIFE |HEM EHAETAREE —RIRIE 4 0.11 0.065 0.16
EBE |xEm [E 5% 3 B B 14 FRRI B PR — R IRIE 12 0.13 0.071 0.24
BEAE |E£H FRTEE —RIRIE 12 0.078 0.058 0.11
ARE | KHmH EFHhERBER — R IRIE 12 0.13 0.066 0.20
AHE hiEh FERETER —HRIRLE 12 0.14 0.070 0.24
AR HHEM FRER R AR — R IRIE 12 0.12 0.062 0.24
AHDE  |MER FEILHARE — RIS 12 0.14 0.060 0.19
HIFE =BT EETh I RELE — AR IRIE 12 0.13 0.085 0.25
BREE |BRET ik 47il0) —IRIRIE 6 0.10 ( 0.031 0.14
BERESE |[BEM BEER —RIRIE 4 0.14 0.052 0.37
EREE |ZEET 25 —RRIRIE 4 0.14 0.051 0.39
HEEE  |MEHT LEE —RIRIE 6 0.15 ( 0.08 0.26
HEBE  PiEmH HEER —RIRIE 12 0.22 0.14 0.28
Parbis b 25Fh BAREMERD —RIREE 12 0.20 0.13 0.27
Pk s EEAEEEH | E %D F RS 14’ BRI XE Fr —HRIRIE 12 0.097 0.028 0.16

@ FEHEDORTAE: ETHEDN. FADKRKRHTRIERGETHoIHEIT. TDEEFMEETTRTRLTNS,
Q REHE (F/ME~RKKE DRTHE :
* R/IMERIFHRKENELN. RETRERBETHoLERE. [ <(EZBADKRHTRIE) JELTRTLTLS,
* RIMEXEHAEDEA . RETREULEETRERBTHoMLHEE. [ (RAIEE) JELTRRLTIS,

s R/MEXIERKRIEDIEIL, JIS Z 84012&>THIEF O . A F47ELTRRLTLNS, =L,

HAHIZBTHEETRIEDHETEL. ENIY T OHIERTRLEL,
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MERRE| Ak B S IR mikg | TOR BME -
diEE | E/MET B/IHAER EEFLERED 12 0.15 0.12 0.19
EHE  |J\Fh RENERB B 7E F 4R E D 12 0.20 0.12 0.50
EFR |=dam Eam)FREE2— ElE FERED 12 0.069 0.021 0.13
2FE  |KLEEEET FHET—HKRER EEFRLERED 12 0.072 0.020 0.11
WHE (ARSI U RS ERSEER B F LR ED 12 0.18 0.11 0.48
WARE [FH#HED BRENER EE 4R ED 12 0.14 0.086 0.21
FEE |dHlm G lIEEEYN B F LR ED 12 0.41 0.14 1.4
#HE)E BEHERX |BEXRFHARRISHYE ElEFEBED 12 0.16 0.088 0.22
AmE)IE [EEHmPX PRAKE B E 4R ET 12 0.14 0.086 0.18
#ERIE |FiFEh J\IB/NEEAR EEFLERED 12 0.15 0.089 0.22
FagE | t#h HESER [E 7 F 4 R A D 12 4.3 0.23 21
BHE RHAM =EB EEFLERED 12 0.27 0.072 0.75
=58 mETH =EAER B E AR EA 12 0.17 0.073 0.37
HEE  |MmEh KEFELIKY 82— ElE K ERED 12 0.25 0.15 0.41
EFE |[#HETRER [ABEHHEITER B 7E F 4R E D 12 0.19 0.094 0.28
EERE |[#FHm#X HEXSBER ElE £ R ET 12 0.17 0.097 0.27
EERE |#FEHAR FAHXSEIER EE 4R ED 12 0.12 0.089 0.18
EER  |maElh Bl AT ElE 4R ED 12 0.26 0.12 0.67
EEE |E®Eh ERER TS EEFLERE D 12 1.2 0.48 3.6
ZRE [ KRTEBLTH EBLLIAR 0% 7K 5 B F 4R E T 12 0.54 0.26 0.89
SRE [#Th T XM #F0 EEFAERED 12 0.15 0.090 0.28
EWLE  [E#m WiIE B F 4 R AT 12 0.15 0.11 0.21
EILE  |B%mhm ea=0o) ElE 4R ED 12 0.13 0.053 0.25
i L2 BEEm BEER B E A REA 12 0.18 0.10 0.54
EILE  |B%mhm Z BRINERR B F L RED 12 0.12 0.049 0.21
EILE || SN, EEFRLERERFD 12 0.14 0.097 0.18
EILE  |B%mhm BREERE 3—F ElE £ R ED 12 0.14 0.10 0.18
LER |LEEWERX Fa A8 o AR EE 4R ED 12 0.16 0.097 0.22
LER |LEEmRELR|RKH/NER ElE 4R ED 12 0.17 0.12 0.23
LEBER | XKhm PN YN D) EEFLERE D 12 0.17 0.095 0.45
Woge  |[EEm HRERNERB ElE 4R ED 12 0.24 0.089 0.53
WO Emt FAERETER B E AR E A 12 0.24 0.049 0.61
EEE  |IBMHm BB B F 4 R E D 12 0.18 0.092 0.67
BEXE \FEMAEEE | HEIL/NER ElE 4R ED 5 0.079 0.064 0.10
NN Ko =ENERBER B E A RE A 12 0.14 0.066 0.22
=IFE  |EET TR REFTD ElE 4R ED 12 0.15 0.077 0.35
HiFE BHmh L BB EE AT EERLERERFD 12 0.12 0.066 0.22

@ FEHYEORTA & FLHYES. FAOKRKBRHTRIERGETHoHEIT. TDEEFMEETTRRLTNS,
Q REHE (H/ME~RKKE) DRTHE :
s R/IMERIFHRKIEDED . RETRIERBETHoEHZRIE. [ <(EZBADKRHTRIE) JELTRTRLTLS,
* R/IMERFHEKEDEL . RETRMEULEETRERBETH oSS . [ CAIEMB) JELTRRLTLS,

s R/MEX IR KREDIEIL., JIS Z 8401Z&>THIEF IO . HEFF247ELTRRLTLNS, =L,

HHICBTIEETREDHETEL, ERIY T DHITRTLEL,




~yo0R)LL STSEE B

MERRE| Ak B S IR mikg | TOR g Em)
diEE AT RX |IEEHR Rl 12 0.17 0.12 ~ 0.22
dtiEE FLIRT R X HISTEEHHRE e 12 0.14 0.090 ~ 0.17
tEE |F&Eb RENER e 12 0.10 0.082 ~ 0.14
EFE |—Bm —BEh=RER BB 12 0.071 0.015 ~ 0.12
EHRE WEmEMRR |RER e 12 0.17 ( < 0010 ) ~ 0.35
=ZERE lEmRE HES Bl 2 0.10 0.062 ~ 0.14
EHRE |AIH 2R BEBEFEEARAER e 12 0.14 0.097 ~ 0.20
RILE Jn ub:: Mt THEPHEE e 12 0.18 (< 0.0025 ) ~ 0.39
BER SWEFEFHTAER |ZEEHIER E 12 0.16 0.10 ~ 0.23
BER W) 1] EMhiEEEER e 12 0.22 ( 0.049 ) ~ 0.39
BERE FHM FHEXZAB#E E 12 0.26 0.048 ~ 0.56
FEE |#m BAIER Bl 12 0.22 0.078 ~ 0.49
RE#h  IERER REEREFRH Bl 12 0.20 0.15 ~ 0.35
RE#  |[HEAX B/GEY/\IELE e 12 0.21 0.15 ~ 0.36
#E)E BETEFBEX |FERERXEZAR BB 12 0.14 0.086 ~ 017
HENE NSHIIBE | ERER e 12 0.16 0.10 ~ 0.34
#ERINE |FiFEh HHE/NMNERB Bl 4 0.18 0.10 ~ 0.29
#AEJIE | Kf0mh AIMERERELRD BiE 12 0.13 0.025 ~ 0.20
HagE KT Wi B HES e 12 0.21 0.13 ~ 0.29
AR Framm HFARmAER e 6] ( 0.020 )| < 0.021 ) ~ (< 006 )
BHE |EHM BEEHE Al 12 0.16 0.098 ~ 0.23
e il ioiiil RRET&mBESEFEIRE il 12 0.11 0.068 ~ 0.18
I il ioiiil EBESEFLIRE e 12 0.098 0.051 ~ 0.15
ga[E 2 FEE AKX | BHHRAER e 11 0.12 0.066 ~ 0.28
BEE RN RX |R-257TAIER e 12 0.14 0.064 ~ 0.45
BEE |=Bh HE=ZER BiE 12 0.097 ( 0.033 ) ~ 0.20
ZHE L2EEMIR [SFETKSER AT el 12 0.17 0.095 ~ 0.35
ZHE LEEMER | AihE KX ER BRI Bl 12 0.19 0.091 ~ 0.36
ZHE L2EETRARX [TEAEB el 12 0.23 0.10 ~ 0.44
ZHE 28m SES e 12 0.13 ( 0.058 ) ~ 0.25
EBHE |—EmH —EmESRKAER Al 12 0.12 0.062 ~ 0.16
ZHE MW #1 H 5 (TE EIET) e 12 0.11 0.042 ~ 0.16
ZHE FER™ FR M B E 12 0.13 0.060 ~ 0.34
=FE |#5EEH EE235 55 e 12 0.15 0.055 ~ 0.30
HEE EEH BHHEZR el 12 0.18 0.14 ~ 0.27
ABRAF  [BRHERX FIRARD Rl 12 0.20 0.10 ~ 0.56
ABREF  |WRHEATH WRHEZEHLAB Bl 12 0.20 0.082 ~ 0.41
ABREE  |J\EH AFERD e 12 0.30 0.21 ~ 0.63
ABRAEF  |BRKBRT BREGEBREL 2B BB 12 0.47 0.28 ~ 0.85
EER |AEM o) el 12 0.37 0.11 ~ 0.92
EER |FEM BI/NERE BB 12 0.25 0.10 ~ 0.59
ZRE |EBFEM BHERR BiE 9 0.14 0.095 ~ 0.28
PR |BHT A E EHBA AR & HB A BB e 12 0.14 0.082 ~ 0.31
SHRE SHER™ FERERD B 12 0.14 0.078 ~ 0.23
BHRE |XKFmH KFHEFRB BB 12 0.19 0.13 ~ 0.31
SRE |#Th FEHEBHE BB 12 0.14 0.092 ~ 0.27
EILE |HENEESE [REXTAES Bl 12 0.17 0.12 ~ 0.27
LS8 |IEEHTEAX LR WAIE B Bl 12 0.16 0.10 ~ 0.22
LER |=ZEMm ZREHEE e 12 0.12 0.10 ~ 0.19
EESE (3=t BHEEER e 12 0.15 0.081 ~ 0.24
EEE  |damd/\BER |EAETEEEE el 12 0.11 0.020 ~ 0.23
EEE |[ERHEZX |TEER Bl 12 0.14 ( 0.0027 ) ~ 0.33
fEEE |[EMmEX AEB e 12 0.12 0.011 ~ 0.28
EEE |[EEHERX |#EHE BB 12 0.14 0.015 ~ 0.33
f& [ 2 HEM HEF el 12 0.11 0.069 ~ 0.17
RIGE RIGH P RIBAES e 6 0.14 0.12 ~ 0.18
EIBE |fA#HAER BEAES E 12 0.16 ( < 003 ) ~ 0.28
REXE  |EEAT KEBT B Rl 12 0.19 0.062 ~ 0.84
o8 |RIEH LER#FRAR TG Bl 12 0.15 0.10 ~ 0.23
BERESE [EEIAT FEEE)IINE e 4 0.25 0.055 ~ 0.79
AR |heET HEH BB 12 0.19 0.13 ~ 0.26

@ FEHEDORTAE: ETHEDS. FADKRKBRHTRIERGETHoHEIT. ZDEEFMEETTRTRLTNS,

Q REHE (F/ME~FKKE DRTHE :

* R/MERIFHRKIEDEDN . RETRERBETHoLEHERIE. [ <(EZBADKRHTRIE) JELTRTRLTLS,

- R/IMERFHEKEDEL ., RETREULEETRERBETHoHEEX. I CAIEMB) JELTRTRLTLS,

* BUMEX (FEHEKEDEE, JIS Z 8401ITL>THIEZ AL . AR FUTELTRTRLTVS, =L BHICETAEETRIEDH ETEL, ERIY T DHTITRTLEL,




s00m)LL STHISEE R ENDETE REEED
. - S ; 5 FEiE EEEFE(ueg/m3)
5 N & a * #

EERTIR A 7 Hh AEH R A Hhigk > 48 *ﬁﬁsﬂ (1t g/m3) HEEI/J\ﬁE HEilj(ﬁE
FEE FEFERIIX[EHARBEEHFHEAX MEMNOEERAERRED 12 0.82 0.10 ~ 4.4
FEE FETEER |ENEHEHFHARANER EMNOBEERERERD 12 1.1 0.046 ~ 8.2
EWLE = SRXER BEMNDEEREAERED 12 0.69 0.16 ~ 42
ZHE [if] 5 T RIEXRTAER BEMOEERELERRED 12 0.12 0.079 ~ 0.20

@ FEHEDORTAE: ELHYEDS. FADKRKBRHTRIERGETHHEE, ZDEEFMEETTRTRLTNS,
Q REHE (H/ME~ZKKE DRTHE :
* R/IMERIFHEKIEDEL . RETRERETHoEHZRIE. [ <(EZBADKRHTRIE) JELTRTRLTLS,
* BR/MEXRFHERKEQEN. RETREUELEETRIERBTHoLBZEIE. [ CAEME) JELTRRLTLS,
s BUMEX (FEHEKEDEL, JIS Z 8401 &> THIEZ AL . AR FUTELTRRLTVS, =L BBICBETAEETRIEDH ETEL, ERIY T DHTITRTLEL,




